
/DWRB����

*UXSD�5R]NãDG������5,3�/����:��7\J������

3
Q

�������������7\J��������
��

6HPLQDULXP�G\SORPRZH�
8UEDĔVND�.DPLOD� ���
5,3�/����6(0

=DMĊFLD�RQOLQH�

Z
WR

UH
N

�������������7\J�����

3':��0HWRG\�L�WHFKQLNL
EDGDĔ�DQNLHWRZ\FK�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� ���5,3�/����
:

=DMĊFLD�RQOLQH

�������������7\J������
���������

3R]RVWDáH�QDOHĪQRĞFL�R
FKDUDNWHU]H�SRGDWNRZ\P
�7\G]���� PJU�:RĨQLDN
1LNROD� ���5,3�/����
352

=DMĊFLD�RQOLQH��SLHUZV]H
]DMĊFLD����PLQ�

�������������7\J������
���������

2SáDW\�SXEOLF]QRSUDZQH�
PJU�:RĨQLDN�1LNROD� ���
5,3�/����352

=DMĊFLD�RQOLQH��SLHUZV]H
]DMĊFLD����PLQ

ĤU
RG

D

�������������7\J��������
����������������

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV]\
XQLMQ\FK�3R]\VNLZDQLH
IXQG��Z�� .DEXV
'RPLQLN� ���5,3�/����:

=DMĊFLD�RQOLQH��SLHUZV]H
]DMĊFLD����PLQXW��������
������

�������������7\J���������
����������������

6RFMRORJLD� GU�5RG]LN
-DURVáDZ� ���5,3�/����
352

=DMĊFLD�RQOLQH��SLHUZV]H
]DMĊFLD����PLQXW��������
������

�������������7\J������
�����

(ZLGHQFMD�L�UR]OLF]DQLH
IXQGXV[]\
XQLMQ\FK�3R]\VNLZDQLH
IXQGXV]\� .DEXV
'RPLQLN� ���5,3�/����
:$5

=DMĊFLD�RQOLQH

F]
Z

DU
WH

N
3

W
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


